Form No. P1009.04
. Faucet, Models MP-2S
+NMC Technologies and MPG-2

Parts List
Issue/Rev. 0.4 (1/02) Bulletin P1009.04

Model MPG-2

29-_

The Most Trusted Name In Measurement



Model MP2-S

Page 2°P1009.04 Issue/Rev. 0.4 (1/02)



ltem Description Qty. MP-2S MPG-2
1 Body, Inlet:
Standard..........ooeveeeeeiieeee e 1 538710-001 534895-001
High Viscosity (200 to 20,000 SSU)..........ccceeeenee 1 538710-002 534895-003
2 Body, Outlet:
NPT, Standard Seals........cccccooevvevveeeeieeiieeeeeeeeee 1 519419-001 519419-005
NPT, PTFE! S€alS ......cuuuveeiieieeeieeeeeeeeeeeeeeeeeeeeeees 1 519419-008
BSP, Standard Seals.......cccccooooiievveieieiieee e 1 519419-007
BSP, PTFE" S€alS ......cuuvvuiiieieieeeeeee e 1 519419-009
3 Bushing, GUIdE .........ccocviiiiiiiiie e 1 533474-001 533474-001
4 Bushing, Valve Stem:
Standard...........oooooeee e 1 012383-001 012383-001
For Use With PTFE .......uuuiieieeeieee e 1 536470-002
5 + Disc, Pilot:
Standard...........oooooee e 1 519425-001 519425-001
ForUse With PTFE .......uuuuiieieieeeee e 1 519425-002
6 Pin, Groove, 1/8 X 3/4" ... 1 006127-002 006127-002
7 Piston:
Standard...........oooooee e 1 519423-001 535180-002
R High Viscosity (200 to 20,000 SSU).........cccceeeenee 1 519423-002 535180-003
8 Piston, Back Pressure ........cccoeeveeiieeveeeeieeeeeeeeeeeeeee 1 538756-001 ...
9 Plate, Retaining ........ccoccveiieiiiee e 1 519426-001 519426-001
10 Plug, Pipe 1/4" NPT .....ooiiiiieee e 1T 002407-402
11 Plug, Pipe 172" NPT .....oooiiiieeee e 2 e 006105-002
12 Ring, Internal Retaining ..., 1 644428-401 ...l
13 + Ring, Quad:
BUNA-N ... 1 011702-001 011702-001
[ d S 1 011702-002 011702-002
@1 PTFE! O-RiNg ..eeeeiiiieiiee e 2 e 645487-401
LY 41 (o] o TP 1 011702-003 011702-003
14 + Ring, Quad:
BUNA-N ... 1 642335-401 ...
LY 41 (o] o TP 1 644427-403 e
[ o T 1 644430-401 ...
15 Screw, #10-32 X 3/8" ..o, 1 006045-002 006045-002
16 Screw, 3/8"-16 X 1. .o 2 060248-002 060248-002
17 Screw, 3/8"-16 X 3-1/4" ..., 2 002086-400 002086-400
18 Screw, #4-40 X 3/16" ....ooooe oo, 3 015603-400 015603-400
19 +  Seat, Pilot:
BUNA-N ... 1 519428-001 519428-001
[ o T 1 519428-003 519428-003
Gylon (In Lieu of PTFE") ....ocoiiiiieeeeeee e 1 536471-001
LY 41 (o] o TP 1 519428-002 519428-002
20 + Seat, Valve:
BUNA-N ... 1 519427-001 535187-001
[ d S 1 519427-003 535187-003
Gylon (In Lieu of PTFE") ...cocoiiiiieeeeeee e 1 536472-001
LY 41 (o] o TP 1 519427-002 535187-002
21 Shaft:
Standard...........ooooeeee e 1 519433-001 519433-002
ForUse With PTFE .......uuuiicieieeeeeeeeeeeeeeeeeeeeeeeeeees 1 519433-003
22 ST o] {1 Lo 1 539616-001 ...
23 ST o] 1 Lo R 1 533085-001 533085-001
24 ST o] 1 Lo R 1 519431-001 535172-001
25 R Washer, 3/8" LOCK......ccccueeeeieeeeeeeeeeeeeeeeee e 4 001111-400 001111-400
26 Washer, #10 LOCK ......uuveeeieieeeeieeeeeeeee e, 1 642482-406 642482-406

1 Polytetrafluoroethylene (PTFE).

Issue/Rev. 0.4 (1/02)

P1009.04 » Page 3



ltem Description Qty. MP-2S MPG-2

27 R Bracketl......occveeeeiiiee e 1 012388-002 012388-002
28 Handle .........ooveeiieiee e 1 070700-003 070700-002
29 [T ] o TSRS 1 006660-001 006660-001
30 PN 1 533509-001 533509-001
31 Ring, 3/16" Retaining ......ccceoceriiiiiee e 2 064123-001 064123-001
32 Screw, 5/16"-18 X 1/2"......ooeieicee e, 3 004026-401 004026-401
33 Washer, 5/16" LOCK .........cccueeeeiiiiiieeeeiiieee e erieee e 3 642482-407 642482-407

+ Recommended stock.
R Indicates change since last revision.
@1 Place O-Rings on shaft after it has been inserted in body.

Editorial Change: 11/13: ltems 2, 4, 5, 13, 19, 20, 21 - reference changed to PTFE.

Headquarters: Operations:

500 North Sam Houston Parkway West, Measurement Products and Equipment:
Suite 100, Houston, TX 77067 USA Ellerbek, Germany +49 (4101) 3040
Phone: +1 (281) 260 2190 Erie, PA USA +1 (814) 898 5000

The specifications contained herein are subject to change without notice and any user of said

specifications should verify from the manufacturer that the specifications are currently in effect.
Otherwise, the manufacturer assumes no responsibility for the use of specifications which
may have been changed and are no longer in effect.

Fax: +1 (281) 260 2191
Integrated Measurement Systems:
Corpus Christi, TX USA +1 (361) 289 3400
Kongsberg, Norway +47 (32) 286700

Printed in U.S.A. © 11/95 FMC Technologies Measurement Solutions, Inc. All rights reserved. P1009.04 Issue/Rev. 0.4 (1/02)

Contact information is subject to change. For the most current contact information, visit our
website at www.fmctechnologies.com/measurementsolutions and click on the “Contact Us”
link in the left-hand column.

www.fmctechnologies.com/measurementsolutions



